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COMPUTER SCIENCE
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

For Honours Generic Answer the Questions
from any one option.

OPTION-A

(Honours Generic/Regular)
Paper : CSC-HG-3016
3 (Sem-3/CBCS) CSC HG 1

(Programming in Python)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Contd.



1. Answer
the following questions as directed : | 3. Answer any three of the following:
(@) Python s; 1x7=7 5x3=15
) on Slngle line C . i . .
—_— omment starts with | (@) What are different types of errors in
(b) The — tp (Fill in the blank) | programming ? Give example.
fal € re
S¢ value. Presents a true oF g (bp) Write an algorithm and draw a
() A variaple am | flowchart to check whether the input
digit. € must begin with 2 | number is even or odd.
d Out (State True or False)
but of the pytho | (c) What are the differences between string
—_ N command ‘a’*5 is .
P and list ?
e A . (Fill in the blank)
tom 1:: library of functions used (d) Write a recursive function to calculate
0 ooy, Vice.  (Fill in the blank) GCD of two numbers. 142+2
On, a "stl-i .
n%tls mutable, (e) Write a program to perform binary
(9) In clasg defin: ate True or False) search on lists.
o Inition
-Nit_ is calleq the function named
—_— . 4. Answer any three of the following
2. Define (Fll in the blank) questions : 10x3=30
e fi s . .
(@ Deb "_’HOng terms ; (a) Write a program to print factors of a
ugging 2x4=8 given number using ‘while’ loop and
(b) Decision table ‘for’ loop.
(c) Bottom.-
Det. m-up Programming : (b) Write a program to create queue class
(d) ault argumen. using list and implement all its
methods.
3 (sem-3/CBCS) C5° HofRC, THC e/ 2
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o .
() Write output of the following

statements : ( Honours Generic)

Paper : CSC-HG-3026
3 (Sem-3/CBCS) CSC HG 2

( Computer Network and Internet
Technologies)

Full Marks : 60

i) 7**math.sqrt(4)

(ii) “Welcome”[2:6]

(i) len([5,7,9,1 1,16))

(iv) print(“examination”[2:4]*3)
(v) len(f*

]
|
i OPTION -B
|
|

apple”,67,”banana”,45,56})/ /2

(d) Write a
. . program to sOrt . . .
Insertion sort. 2 list using The figures in the margin indicate

full marks for the questions.

Time : Three hours

(e) Give brief descri

methods. ption of any five string

_ 1. Answer the following questions as directed :

() Discuss the ord(), hex(), oct( e
an ’ ’ ,» COm

d float() type conver plex() (a) Physical or logical arrangement of

with examples, Sion functions network is called
(i) routing
(ii) topology
I — (iii) networking
(iv) None of the above
(Choose the correct option)

(b) Wireless LAN is not a guided media.
(State True or False)

(c) A device that connects networks with

different protocols is called _____.
(Fill in the blank)
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d Wri e
; )) te the full form of URL
. .
€ Wnte an example of web browser.

() Which
t i .
HTML ?ag Is used for hyperlink 12

GiVe ane
lang\-lage_Xample of server side scripting

Defi

o InI:IAtEe following terms :
(b) TCP/1P

(c) HUB

(d) 1Sp

2x4=8 .

Answer
ONY three of the following

4.

(d) Briefly explain the functions of Telnet

and FTP. 5

(e) What are different types of lists in
HTML ? Show an example. 5
10x3=30

Answer the following questions :

(a) Create an HTML document which will
contain the following table : 10

RESULT
Name | Age | Mark
A 25 60
B 26 50

(p) What do you mean by function in
JavaScript ? Write a JavaScript

=15
(@) What are di 5x3=1 program to find the largest of three
J ¢ different ¢ o =
avaScript ? Wp X ata types used in numbers. 2+8=10
vari _What do )
declable ? Give the gez:? almean by & (c) Discuss different topologies used in
are a variable, Syntax e LAN. 10
(b) Explaj Tlr=
pagea;?itlﬁow to put an image on b
the help of an exampi: WeS
(c) What
media %0 \%,/%I;tn;i:nd? transmission
el 1ier
zraa::?lsmlsslon media ? Giveez:l;stcatn}igf:s gf:
. 1+2+2=5
3 (Sem-3/CBCY] CSC HGJRC, TCARC, TIRC/G 7 Contd.
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OPTION -

( Honours
G .
Paper : Cg eheric/Regular )

3 (Sem-
3/CBCS) Csc HG 3/RC, TCA-RC

( Operating Systems )

Iaull Mar kS : 60
Time -
The f; e Three hours
Full s i th

e all g, m:};i? )
. okl

———18apg

Signal to 4 pfoli( System call to send 2

POSIX & SS. (Fill in the blank)

Biey SMl—— System cal] 3 s o4
"o R (e 3y e )

(b)

3 (Sem-3/CBCS) cse He/Re TCA-Re ¢/
Y T

C-HG-3
036/CSC-Rc-3016 /TCA-RC-3016

(c) Each process has its own address
space. (State True or False)

e At Rl address space AUF |
(8% @ oSF &3)

(d) All the threads in a process share a
common address space.
(State True or False)

B ATH FEN thread @ FEHW address
space I IA| (3% @ 9% F3)

e) Shortest-job-first scheduling are
primarily used for interactive systems.
(State True or False)

Interactive systems © A4F4CS shortest-
job-first scheduling JX® A
(o7 7 9% &)

() Sometimes segmentation and paging
are combined to provide a two-
dimensional virtual memory.

(State True or False)

@Rl segmentation W% paging 9%
FF two-dimensional virtual memory &N
= = (8% @ 97 &)

(g9 ______ is a pattern matching utility.
(Fill in the blank)

&B! pattern matching utility |
(T 21Z 279 )
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2.
Answer the fellowing questions

T il e e fopa o

(a) What
Operat?;e the two main functi
g system ? ons of an

2x4=8

(b) What is the

Systems I e Rso

(c) What i
ph t s the differen
ysical address ang ce between a

d .
(d) What is the differ
preemptiVe and e
scheduling ? no
Preemptive non

scheduling 3 @I o

Answer q
n
questions : Y three of the followi
ng
9x3=15

. T FSfi51 e ey 5

a .
(@) What are different ty
system ? Give brief ; Pes of operating

N-preemptive

pPreemptive

3 ISem-3/CBCS) CSC HG/RC, TCA-RC, TI-RC/G - 10

(bp) What are the design goals in building
| an operating system ?

wmﬁzmﬂﬁwmamﬁﬁs?

process hierarchy ? Explain.

| (c) What is
| ol @ e T T
| (d) What is shell ? Write the syntax of loops

| used in shell script.
Shell &7 Shell script ® A9 (@ loop

@RS syntax &l

of hardware support is

(e What kind
paged virtual memory to

needed for a

work ?
Paged virtual memory RfEN FIRACE 153

ol GOSN AT ¥

4. Answe

wors A Rt oo 2 Ty fordi 8
(a) Define process and thread. What is the

Contd.
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(b) Briefl
y €xplain
Plain any two non-preempti
ptve

scheduling algorithm
. non-preen:; .
(c) lgorithm ST /e ;;Ttll ve scheduling OPTION-D
c) Wri
rite a shell scrj COMPUTER SCIENCE/
name. If Ipt to
meSSagenotavand loginaccept a login INFORMATION TECHNOLOGY
[{4 . n .
Login namlé1 valid login na?nnés’ display ( Honours Generic /Regular)
Tt Login njj ta[ R @B shell sord Paper : CSC—HG—3046/TIT—-RC—3016
”» oy L e (¥ « script @ g
name” I ey Wlm Invalid 10gipn ; 3 (Sem-3/CBCS) cSC-HG 4/TIT-RC
(d) Write | (ICT Hardware)
’ a shell . | .
contents of th script to m Full Marks : 60
and then dis rlee files, sort theer'c:'re the | Time : Three hours
nga§°§;n bage g;rgaents The figures in the margin indicate
script ) IR ge. 1l marks for the questions
ot == opry e 9Bl shel 1 fu fe . |
(e) Briefly explai A = . Answer the following questions as dlrect;d :
strategi ain mem 1x =7
Memoil'e:ﬁ | ory allocation were fadl REe T IoRIEdl e forat 8 .
0 ocation (Ferarg (a) The microprocessor and n\llimogr chips
Explain . SRR of modern computer ar¢ S1 devices.
agmentgtlie difference between ; ' (State True or False)
Which one o and externa] f. €n internal | e AT ABCIATEEI
Internal o FS i pagin sgmentation, e VLS S| (39 &7 = )
fragmenta tli'agmentattion é;y stems ? | (b) Printer resolution 18 mc;;;ﬁzdt;: m}
on 9 7 €xtern
systems © (g AN | pag al Rriee SO G
_? | Paging (e % 1 )
. () HDMI stands for —=y7
(Fill in the blank)
HDMI & __—— afefaag I3
(et 31 799 1)

3 em-3/CBCS CSC /R, TOhR6, T/ 1
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(d) A solid-state drive (SSD) use flash

memory. (State True or False)
Solid-state drive (SSD) © flash memory
P Q|

(%% 7 oo )
(e) Blu-ray Discs are backwards

compatible with regular DVDs,

(State True or False)
Q¥ DVD3 GRS EE e
(%% @ o5 )
ache memory.
(Choose the correct option)
T RT3y

Blu-ray Digc
gy |

is used for ¢

U

— TR T
(%% @ wom fie)
() DRAM
(i) SRAM
(i) ROM

(iv) None of the above
@) Number of pins in RJ45 connector is

- (Fill in the blank)
RJ45 connector's Bt o P
' (0T 7% o379 1)
2. Define the following . 2x4=8
R faRy e

(a) NTFS
(b) Disk cleanup

(c) Defragmentation
(d) PCI
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3 em

Answe

the following
r any three of 5x3=15

: o6t o Tt o s
woiq ECA

f about classification of

(a) Write in brie
| computers. ot 1
fiToE AR bF
lai lgical structure and file system
ain : ‘

@ Etzq:lard disk drive 1n bnei;ﬂw o
I?Iard disk drive S SIS e
Boen HI I I | |

hat are the new trends in optical

(¢ W al .
media * .
Optical ffEaR 77 esacm@ti o

ive an overview of 10 iy

“@ glv eration Intel Core Processo;x;mm

n
Inefcel Core Proces;(;r L RRIEE
GF AT U\ |
s 10S.
Write the functions of SMP%:.nrtd B
“ SMPS ®% BIOS I &R
er any three questionslgia-t_gg
Answ ¢
following :

oo PRI e DT e e o 8

Prepare a list of components required
(@

the

i ?
when assembling a computer

Contd.
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! TR qofire SR mﬁg@ |
IR Ol eigs 2wt | HRATH

IR TR Fteret oA B2 file
Compare between FAT and NTFS
systems,

FAT 9% NTFS I 9o 41 |

to
(c) Prepare a list of components
€stablis alLA

S
N. Write down the step
to hook up 4 pe in LAN.

A o TSP ST
Wﬁwmnmpc LAN & s S
TCRARR Fratt -

(d) What i IP address 7 Explain bri€
IPv4 and 1pyg

IP addresg ®? Ipvg 9% IPv6 I ﬂa@
fran

(b)

Computer System ? Explain.

Rafieers axefm @
maﬁw.

’i
4
|
|
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